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( APPLIED STATISTICS

1. Answer the following as directed - s
e T et ST O iy
(@) In general, Laspeyres’ price index

number is —— than Paasche’s price
index number.

(Fill in the blank )

Res, AN T s sy
e ——!

( 18 91 s <oy )
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(2) (3)

jati time series e :
(b) The seasonal variations of a () If the origin in a trend line equation i

occur shifted forward by three years, X in the
FECHAR 4geiiie ~Rad (71 Cofrdl I equation Y =a+bX will be replaced by
() within a month Tfi e o S TP R 3 =g
b1 T foeTe i fll &, ¥ = a+bX W X sy
o s 3 ’q j
(i) within a week ‘T{, 1
<1 Hepreg fowqe ) e
(@) within a year L x 7o
<61 299 Rwqw 8
(v) within a day (i) X+3
(iii) X -
( Choose the correct answer ; X-33°4
(T TeIU] qife Sfered (iv) None of the above
87Rq o187
(c) What is hypothetical population? ( Choose the correct answer )
e
23 TR s (1 % BT MR S )
. L. column -
(d In a Particylar period, cost of living 0 :-zl;:s:t?f: x of the life table
index numpe, js found to be 150 and : GHOI
&g wIfee[ L &
money wage of a worker is & 9,000. © Lt w2
What wi 's real wage at (g) Non-sampling €TTOIS are pregen both j
at will be the worker census SUVEYS as well s
that periodp dresh as sample
s . )
@m‘ﬂﬁﬁﬁ'@w@aﬂmmf 5 (WnteTTUEOrFaJSe)
150 % qur it T TR € 9,000. soofef o2 26T I Ao Rz 2w
g9 © Yo
ﬂﬁﬁf@m@wm@ﬁmﬂiq- T SpTATCe el P ED MR o |
(9% G o oy
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(4)

2 Giveghshon answers of the following

questions : Ix4=8
@) Mention the components of a time
series,
et oMoz <1 ST T S
11
(b)

What i meant by deseaSOnalization of
data of altime series?

T agafy gomaftie wu T
2

&R
(¢)  What IS the significance of Net
R e 25 (NRR)=17 wiee & 7
(@) Index NUmpbers Sr6 economic
arometerg Explain.
T R St o | 9
3. Allswer i
g
questionsa;ny three from the f0110W15x3=15
e
(@) R e Fofibt enpq wea fom -
What i IR umber?
Ment;... . °St of living index 1 +3=5
entxon its Uses 2
%zaa:? W poe 57 WA SELES
|
8A/847

( Conﬁnued )

(5

(p) Write the advantages of sample survey
over complete enumeration,

ool A PO S AR R
ferr

{c) From the chain base in Hex (CBI)
" numbers given below, fing fixed bage
index (FBI) numbers :

woTe R IS PR (CBI)
frafefe oo (FBI) Moy =y |

Year : 1975 1976 1977 1978 Vid
LT

cBr : 80 110 120 g4 .

(d) Calculate trend values ygjp
moving average for the time
below :

WWWW M 4 @mw
Tz IR SRS T fefyy 2y TG

& 4 yearly.
series giVen

09 2010 2011 o
g to 200522 012 2013 9, 2015 29,4
=Y
Production (kg) : 506 620 1036 673 ggg o
Sesyar (feem)
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(6)
3+1+1=5

(e) Define :

ige] fopy -
(i) Population
pabi:

(i) Parameter
| L5}
(i) Statistic

e

4. Answer any
questions -

T T R atean fofiiy opqq a9 o -

(a) Explain the methods for measurement of
fertility, .

W@Wﬁﬁwmwwl

following
10x3=30

three from the

{b) Write short Notes on any two from the
foHOWing > 5)(2:10
O il R e Wi 5 B T

() Life tapye

N qa S wifere

(i) Wh°13$ale price index number
i P A

" Gross Teproduction rateé

B oo oy

8A/847 ( Continued )
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(7))

(i) What precautions should be taken
to select the base period to construct
an index number? B

oI B PRI e Fitiomy wearcs
3 & STRYFO! S=RET SR wAsy 2

(ii) Given the following data :

Commodity Py 9, b ql
1
A 10 2 5
B 1 S X

2
srhipe o ?0 r-efer to base period price
and quant]ty ’ pl’ ql.refer to current
period price and Quantity. Ring y ;¢\

ratio between .LaSpeyreS, (L) S
Paasche’s (P} index Mumbers g
P =28:32: 6
were figl S/ A
377@ po qo ‘Dl ql
B i S X 2
ﬂ’%‘po’qoimmw”ﬁ‘"": P,q%
ore T TH TE AT gy | X%fiﬁ-q
fadg 0 I RN (1) g It
SR SO LiP =281 907 5 i
( Tum Over )
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(8)

_ (i) Define
(d) (i) Fitatrend line to the following data

events and vital

2 statistics. Compute age-specific
: for the age grou S given
t squares death rates g€ groups gi
Rl lei;q@ 3of Ao below : 1+1+3=5
O ] Wy Al
s ﬁ el 9 : Age group No. of Deaths Population
1972 1973 1974 010 - iis
Year . 1970 1971 1020 15 2000
(7%9) 9% o7 26 20-30 5 3000
pw, e -
in 000 tons
0 18
@Q*’ﬁw(’oooi‘a@) 2 40-5 500
; d values. Coa Tl T R AR sy foram |
(W) Calculate the tren i S SRR (4
%QF{%W w7 g 2 5 CE 0 G i IR *[T T751-
(i) Estimiate e production in 1975. SIRER A 1591 .
oifRrel fefm 0 | P e T3 ey
1975 g TeAmd e SIS
. D ‘
sampling: 0-10 25 1000
(e) Khat‘ is simple t;a;;iomof Se1ectin§ 10-20 15 3006
. a::itmn two m];iscuss the mentzin 20-30 5 3000
s or-xz sa?nples:fed random samp1+2g’;7=1 0 3040 7 2500
€rits of stratifi 40-50 18 500
T A o7 ToE A7 o
sifieaey 1< 7 A
PR tfo =y ‘oed T ;W
AT (R e TPRAPTR s
; ex nu
D ) Shoy that Fisher’s ind al test and 5
Satisfies poth time revers
factor reversal test. Tedd
TS @ o TILL ﬂ:%ﬂ i
S S S
@ (C Onn'nued ) 8A/847 ( Tum Over)
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( 10 )

( ECONOMETRIC METHODS )

. : 1x7=7
1. Answer the following as directed :

w1 PRI o wepify S ot -
(@) What is a dummy varible?

AR 5o £ 9

ial curve is
(b) The €quation of the exponential ¢
of the form Ve -

AT AL

( Fill in the blank )

T G Hper s ¥ =
C ki akall

What ig time geries?

FER 9

st of the
(d) 1f 2 value is very high and mo

i y 'ﬁcant,
independent variables ar€ 1;151;3;1
then what will be the proble

e

TR, cormeren fos w0 A X7

mued )
8A/847 ( Contit

(11

(e) Why there is type II error problem in
multicollinearity?

2o TS 9P 11 5 ST ey Az

() What is the role of the dummy v hee
in a model of the form ¥, = ¢ +BD, +U,>

Y; =o+BD; + Ut e @i T ofie
&2

(g) In a time series, heteros.cedasticity s
not occur.

( Write True or False )
reicle R R Teg oy |

R G e o )

2. Answer the following qUestions .

2x4=8
waTe AT P Ted e
(aq) What is seasonalisation Bt
variable?
2@ 5o 4T LT R o g 4

(p) Draw a figure Showing

negative first-order auytq a5

I‘relaﬁOns.

&ﬂmﬁawﬁﬁwww

ey
S I TE AT fe TR

EBTCWWI
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(12)

(c) Mention two limitations of the method of
moving averages.

(d) Name two problems that arise in the
estimation of 3 linear regression model,
when the assumptions of E(ui}2 e
and E(u; u;) =0 are violated.

o R T Ry R SRR TR =R
T R w, afem Bw)® =5" ¥
Bl ) = 0 s o1 A 1 2 |

3. An =
SWEr any three of the following : G53=10

SR G Rt e e o

@) Explain briefly yarious reasons for the
Problem of myjticoltinearity-

R v sy ffer IR TCE T
RLE L

& Distinguish between AOV s dBacoy

8A/847

( Conﬁnued )

(13 )

() What is a dummy variable trap? How
can we overcome it?

A8 T FH A 2 W Y g
ot )

(d) Describe briefly the Koyck model.
Koyck 261 BILF SCAGT <54 |

fe) Calculate three-year moving ay
: e

for the following data and COmme;?gss

n

the results :
o oﬁm-@mm%ﬁ-wmm ,
39 HF FeFed SIS Vo fiyy 2 ST
Year (I%9) : 2006 2007 g
0
Production ‘ g 2 W wy 8 2009 2010
(in ’000 tonnes) 8 "5 By
T (*000 B)
Year(?@) : 2011 2019 200573
Production 23 s T 014 2035
(in ’000 tonnes) 27 ¢
GeA7 ('000 5T19)
4. Answer any three of the following .
woid R e ol 2 B9 3y " 10x3<3q
(a) Explain the methods of B
multicollinearity problem inectlng. the
regression model.  \p.. a linegr
remedies for multicollineq are  the
a1 AT T Wy oy P
41 | 2 TR Tpyy A ST
foram1 HETT

8A/847




(15 )
(14 )

() Explain the method of least squares in

(b) From the following information, test the measuring trend of a time serjes. How

autocorrelation - | can exponential trend be determined?

T Tl we oy wpefeey ST A o | Feen A R Py o omey
o | Al 0 IR S @emer fisfae

X . 1 2 3 4 2

TERRO Rl o (10312 14 9 M

The tested model for the above
observation ig Y, =1-2 +0-6X;.

i
SR mq qrq Qe SR 2
Y1=1.2+0.6x,.

* K *

: 1?
(¢} Why is the study of time series usef? a
Discuss the varjous components ©
time serjeg.

TP e o el ? T SR
%"TTWWKWWW|

3 e
Briefly discysg the importance Oi :hre
adaptive exXpectations model. Wha

. : (&
the Problems faced in estimating th
model?

TR erom g @ DI 0T
1 R SR R TR T T

(d)

1.
(e) Explajn the partial adjusmlent mode

R . CiEwEisiall 8A—7000/847 3 (Semg
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